Paper-Maker Paper Maker 10

Directions (1-5): & 31$ SITeTehRT &1 LATTYA HETAA T IR AT feT 10 gt

& 3 GIfST-
T fAfREd e sror &
“Amazing dire accrual trawling” @I “U13 19 127 18 " & &9 H heacy fohar

ST g
“Seems licks rudely” &I “C31 E43 E38” & &I H Fededl fhar ST 8

“Straits April August Wrong” @T “138 R13 030 U21" & &9 H shesed fhar Srdr
gl

Q1. &T # @ ‘Laptop’ & e 4T §II?
(a) Al6

(b) 031

(c) T28

(d) P32

(e) 028
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Q2. % ‘D30’ 7771 H & forg 2rec & TFSTEI g1 Hehell 87
(a) leader

(b) janta

(c) Bhartiya

(d) party

(e) 3T | PIS ARl
L1Difficulty?
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Q3. ﬁmﬁ@aﬁ%ﬁﬂ’»}lﬂﬂﬂ, rsg ‘Rudely’ &T e FAT8?
(a) U1

(b) C60

(c) V10

(d) E43

(€)3=TH | FIg w7el

L1Difficulty?
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Q4. R STeTeh T & TTAN ‘Railway’ T e FT gl AMGT?
(a) W43

(b) A32

(c) Y45

(d) L40

(e) SAH & IS L
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Q5. f#=T # & ‘Purse’ &l e AT §ram?
(a) P21

(b) U21

(c) S16

(d) R21

(e) E26

L1Difficulty?2
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Solutions (1-5):
(i) The letter in the code is the 3™ last letter of the word
(i) The number is the addition of place value of first and last letter of the

word in the alphabetical series.

3rd last letter
of the word

APRIL - R 13 e addition of the place
value of the last and
the first letter of the
word

S1.Ans.(c)
S2.Ans.(a)
S3.Ans.(d)
S4.Ans.(a)
S5.Ans.(d)

Directions (6-10): & IS SATHARRY &1 YT HITSTT T2UT AT d weAt &

I &
Teh fRA TR e o &,

“Refresh found special” @I “6H 4M 6QB” & &9  freacy faHam Srar &
“Attend print future” @I “56UO 4SO 51" & &9 H fHeded fhar ST g,
“Divine simple often” &Y “6M 50 4GF" & &9 # dhescy! fohdl SI1aT &

Q6. ‘Great' & folw &1 e &7
(a) 41B

(b) 4B

(c) bSZ

(d) 4SB

(e) 3o1H & g AET
L1Difficulty?
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Q7. ‘Keen Bright' & fow &ram g &7
(a) 3F 58I

(b) 4V 61S

(c) 3V 5SI

(d) 3F 5IS

(e) 4F 6Sl
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Q8. ‘Announce’ & foT &aT e &7
(a) 80D

(b) 7MD

(c) TMX

(d) 70D

(e) T3 | I ALl
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Q9. ‘Dark’ & forw &Fam e 87
(a) 4Bl

(b) 3B

(c) 4B

(d) 3BS

(e) 3l

L1Difficulty2

QTags Coding-Decoding



Q10. ‘Signature' & foT &raT e &7
(a) 9R

(b) 8JS

(c) 8RI

(d) 8l

(e) 318 Q FIg =Tel
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Solutions (6-10):
Sol. Let us understand the logic behind the given coding decoding:
For number- It is the total number of letters present in the word-1

Case-1: If the second letter of the word is vowel then code will be---

opposite of second last letter

Refresh — 6H
Total no of letters-1

Case-2: If the second letter of the word is consonant then code will be---

next letter of second
letter of the word

Special—= 6QB
Tdtal jno of letter-1

next letter of the second
last letter

S6. Ans. (d)
S7. Ans. (c)
S8. Ans. (d)
S9. Ans. (e)
S10. Ans. (d)



Direction (11-15): fRFIfaf@d ST & LAWY 3HeqdsT Hifw qur

few a1 gesit & 3R QS
A-Z & GUTATAT 4ol H, TR Y BISH Fedeh JUT Y 1-8 Teh( 518 Yd-B &l 1 &

9 A Heaey fHdr S1dr §, C-2......K-8) affies H&am3it & &4 # Afdse § aur 34
TEIT3T R T SgTar SAar & (S L-1, M-2-+-++-_. 3737 8t sy YR |

T &Y Jcdoh TG P 3TeFT-3eldT Uik & &9 H fAfese forar s & 3raTq #, $, %,
@, &
3GTg0T & folw -

e AT H, -

“he is boy” @I ** #7 4@1 & §9 H ey fhar AT 7|

“What do you mean” &I 86$2 ** *@* 3%$2 & &7 H Heae fhar AT g
“Itis simple” @I #8 #7 *#241* & & H fHedey fhar T gl

(i) Ife T 2reg 1 ggel R 3T auT St Sotets, oY Gl SFSTell & el hl ITaH

H e fear Srar g |
(ii) I T Asg T UgT JUT ol g iR 37T aoT TR § ar gl hr * & &9 &

Thesed fhar S|

(Tfe; eree;, IR &) IR AT T HISE AL HFAT &, A 3 Aeg; o qUI Y IWIeFd T
9T FERMTACRT & 3THR Fesed fohar Sram)

Q11. ‘ERROR FREE & eIT &1 e 8 Hehell &7
(a) %66@6 *6%*
(b) 666@% *6%*
(c) %66@6 *%6*
(d) %66@* *6%*
(e)3=TH & g =Tgt
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Q12. ‘BLOGGER’ a:ﬁtrwagam%?
(a) *1$55%*

(b) 1@55%6

(c) *@155%*

(d) *1@55%*

(€)3TH & g =Lt
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Q13. 'ENCOURAGE’ & oIt T e g1 Fehell &7
(a) %32@&65%$%

(b) %32@&6%$5*

(c) %32@&6%$5%

(d) *32@&6$5*

(e) 3o1H @ I3 =TEt

L1Difficulty?2
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Q14. ‘INCENTIVE' & foIT &7 e 81 Fehll &7
(a) #32%38#1#

(b) #32%38#1%

(c) %32%38#1%

(d) #32%381#%

(e)3TH | &g oTal
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Q15. ‘SBI MAINS’ a:ﬁvwagg’rm%?
(a) *1* 7T#$32

(b) *1* 7$#23

(c) *1* 7#3%$2

(d) *1$ 7#$32

(e) 318 Q FIg =Tel

L1Difficulty?2
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Solutions (11-15):

Sol. In this new pattern coding decoding each letter, except vowel, is assigned
a number from 1-8 So, B-1, C-2, D-3, F-4, G-5, H-6, J-7, K-8, L-1, M-2, N-3,
P-4, Q-5, R-6, S-7, T-8, V-1, W-2, X-3, Y-4, Z-b.

Each vowel is assigned a different symbol as-%, #, $, @, &. So, for vowels the
symbols are - A-$, E-%, |-#, O- @, U-&.

S11. Ans (a)

S12. Ans (e)

S13.Ans (c)

S14. Ans (b)

S15. Ans (e)



